











35, tnmensions LML T '] are related to

(a) torque

(b) work

(c) energy

(d) coefficient of viscosity

36. The dimension of % in the equation

37.

38. In a SHM, when the displacement is one half

a-t :
p= - , where pis pressure, x is distance
and ¢ is time is
(@) LT (b) ML3T™)

() M2LT] (d) [MT2]

If the distance between the earth and the

sun is half its present value, the number of

days in a year would have been

(a) 730 (b) 182.5
(c) 129 (d) 645

the amplitude, what fraction of the total
energy is kinetic?
(a) Zero
() 1/2

(b) 1/4
(d) 3/4

39. Abody is executing simple harmonic motion.

At a displacement x, its potential energy is
E, and at a displacement y its potential
energy is E,. The potential energy E at a
displacement (x + y) is

(@) E + E;

(o) \[E? + EZ

(©) E + E, +2\/EE,

(d) JEE

40. Which one of the following graph between
velocity versus time for a
viscous fluid is correct

body falling in

a1.

42.

43.

45.

46.

47.

. Permanent

A body of mass M is kept on a rough
horizontal surface (friction coefficient p). A
person is trying to pull the body by applying
a horizontal force but the body is not
moving. The force by the horizontal surface
on the surface of the body is F', where

(8) F=Mg (b) F =uMgF

(©) Mg<fsMgyitne (d) Mg F=Mgyl+n?

The ratio of acceleration due to gravity at a
height h above the surface of the earth and
at a depth A below the surface of the earth
h < radius of earth

(a) is constant

(b) increases linearly with h

(c) decreases linearly with h

(d) decreases parabolically with h

What is self inductance of a coil when a
charge of current from 0 to 2 Ain 0.05 second
induces an emf of 40 V in it?

(@) 1H (b) 2H (¢c) 8H () 4H

magnet  has properties
retentivity and coercivity respectively

(a) high —high (b) low-low

(c) low — high (d) high-low

The flux linked with a circuit is given by
0=t +3t-7. The graph between time
(x-axis) and induced emf (y-axis) will be

(a) a straight line through the origin

(b) straight line with positive intercept

(c) straight line with negative intercept

(d) parabola not through origin

An inductor of 1 H is connected across a

920 V, 50 Hz supply. The peak value of the
current is approximately

(@) 05A (b) 0.7A () 1A d) 1.4A

Power supplied to a particle of mass 2 kg
varies with time as P = S watt, where £ is in
second. If the velocity of particle at ¢t =0 is

v =0, the velocity of particle at time t =2 s
will be

(@) 1 m/s (b) 4 m/s
(c) 242 m/s (d) EE m/s


















6. The  value of  the expression
1:2-0C-0")+2-B-w)3-0) +......
ot (=D -w0)(n-0?), where ® igs an
imaginary cube root of unity is

(a) {mn; 1}}2

0 {" “F “n

(©) {n(n; 1)}2 ol

(d) None of the above

7. A series, whose nth term is {E) + v, then

=

sum of r terms will be

afily oy
i

it 8.Let S,,S,,... S, be squares such that for
each n> 1, the length of a side of S, equals

x b b
11..’31:& X bﬂ.ﬂdﬁgﬂ

p b‘are the given
e
a a x

determinants, then

o]
(@) Ay = 3(A, ) (b) a(dd =34,

(©) (8, = %A, (d) &, = 34,%2
ol '

12. If A and B are square matrices of the same
order and A is non-singular, then for a
positive integer n, (A 'BA)" is equal to

(a) A"B"A" (b) A"BTAT"
(c) A7'B"A (d) (A~ 'BA)
[
</ a, 0<x<l1
13. The function f(x)={ a, 1<x<+/2
ﬂ —
'26_'5'4_b ] ‘V’t‘-?: 5 X< oo
X

is continuous for 0< x < co,then the most
suitable values of a and & are

=1 b=-1
the length of the diagonal of S, , . If the g z - 1_?5 =147
length of a side of S, is 10 em, then the least AR E
value of n for which the area of S, less than 1 T
adiom (d) None of the above
@7 )8 e
(c) 9 (d) 10 Let VAL 1+sinx, 0<sx< ™ then at x=0
9.If p,g and r are positive and are in AP, the the derivative f’(x) is
| roots  of the quadratic equation (a) 1 ()0
J‘ﬂ ,:Ja ) Ir-|~ q:: + ;: 0 are real f‘;r b ' (c) infinite (d) not defired
—= /2443 b) [= —7|< 443
P { }’r 15. Iflim ¢(x) = a®, a # 0, then lim q;(i‘_)ig
(¢)all pand r (c) no pand r o i
10 (a) &* ®1/a®  ()1/a2 (d)a?
: T]_le value of x, for which the 6th term in the .
éxpansion ) of 16. If;i ; =2sec:6 —cosB and y = secd — cog” 0, then
o : [——) is equal to
1 AT | s is 84, dxz
ols) log,(3* 1 + 1) QAL (b) ﬂyé;‘ﬂ

15 equal to
(@) 4

©)=2 (b) 3

(d) 1

i
-—J\%Il“
[ EE——— Fi

TR

il

X

(d) (%Ja -4










“4. rror any two independent events &
a space S, PI(E, U E,) N (E, 0 E,)]is equal
to

@<

45. The resultant of Pand Qis R. If Qis doubled,
R is also doubled and if @ is reversed, R is
again doubled. Then, P? :@ : R* given by
(@2:2:3
(b)3:2:2
€)2:3:2
(d)2:8:1

46. Forces of magnitudes 3, P, 5, 10 and Q@ are
respectively acting along the sides
AB, BC,CD, AD and the diagonal CA of a
rectangle ABCD, where AB=4 m and
BC =3 m. If the resultant is a single force
along the other diagonal BD, then P, and
the resultant are

@) 4, 102, 121
12 12

(b) 5, 6,7
(© 31 80l
2 2

(d) Nene of the above

yand E,in  47. A stone is dropped from a

49,

o R T Y
S0 5 et (t&n J+ 5 secz(z tan (x] is

ich can reach the ground
:£;'e is stopped after 3 s of its
allowed to fall again, then thg il
the stone to reach the._ groun
remaining distance is e

v

' (b)3s

Ez; ‘?: (d) Nﬁn&f‘?‘:‘
ojects ballattheang;l_éof
it eont aIf the horizontal range 18

the horizontal. ‘horizo
39.2 m, then the ball wﬂ]_ il::e;_to
(@)9.8m i
(b) 4.9 m 1
(c)2.45m

(d) 19.6 m e -

1 -1 Ja 5m* .
If(tan x)* + (cot x)? = ?-, then x is eque
to ER
(a) -1 -
(b) 1 rtj
()0

(d) None of the above

p
equal to

(8) .~ B) (o® + B?)
(b) (o + B) (0® — B2)
©) (0 + B) (0 + B2)
(d) None of the above







